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1. The economic system in India is 

related to : 

(A) Mixed economy 

(B) Non-mixed economy 

(C) Both (A)&(B) 

(D) None of these 

 1. Hkkjr esa vkfFkZd iz.kkyh izpfyr gS % 

(A) fefJr vFkZO;oLFkk 

(B) vfefJr vFkZO;oLFkk 

(C) nksuksa (A),oa(B) 

(D) buesa ls dksbZ ugha  

2. Production possibility curve will 

be to the point of origin : 

(A)   Convex 

(B) Concave 

(C) Straight line  

(D) None of  these  

 2. mRiknu laHkkouk oØ ewy fcUnq dh vksj 

gksrk gS % 

(A) mUurksnj 

(B) urksnj 

(C) lh/kh js[kk 

(D) buesa ls dksbZ ugha  

3. Opportunity cost may be called : 

(A)   Alternative cost  

(B) Displaced cost  

(C) Transfer Income 

(D) All of the above  

 3. volj ykxr dks dgrs gSa % 

(A) oSdfYid ykxr 

(B) foLFkkfir ykxr 

(C) gLrkarj.k vk; 

(D) mijksDr lHkh  

4. “The amount of money which any 

particular unit could earn in its 

best paid alternative use, is 

sometimes called its transfer 

earning”. This definition is of : 

(A)   Smt. John Robinson 

(B) Benham  

(C) Marshal 

(D) Stigler  

 4. **eqnzk dh og ek=k tks fd dksbZ ,d bdkbZ 

loZJs”B oSdfYid iz;ksx esa izkIr dj ldrh 

gS] mls gh gLrkarj.k vk; dgrs gSaA** ;g 

ifjHkk”kk gS % 

(A) Jherh tkWu jkWfcUlu 

(B) csUge  

(C) ek’kZy 

(D) fLVxyj 
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5. Analysis of an industry fall under : 

(A)   Micro Economics 

(B) Macro Economics   

(C) Both (A) &(B)   

(D) None of these 

 5. ,d m|ksx dk fo’ys”k.k fd;k tk;sxk % 

(A) lw{e vFkZ’kkL= esa  

(B) O;kid vFkZ’kkL= esa  

(C) nksuksa (A) ,oa (B)esa  

(D) buesa ls dksbZ ugha  

6. The mother of central economic 

problems are : 

(A)   Unlimited wants  

(B) Alternative uses of resources  

(C) Scarcity  

(D) None of these  

 6. dsUnzh; vkfFkZd leL;kvksa dh tuuh gS % 

(A) vlhfer vko’;drk;sa  

(B) lk/kuksa dk oSdfYid iz;ksx 

(C) nqyZHkrk  

(D) buesa ls dksbZ ugha  

7. In Economics definitions related to 

welfare are given by : 

(A)   Adam Smith 

(B) Robbins  

(C) J.K. Mehta   

(D) Marshal & Pigou 

 7. vFkZ'kkL= esa dY;k.k laca/kh ifjHkk”kk;sa nh  

xbZ % 

(A) ,Me fLeFk }kjk 

(B) jkWfcUl }kjk 

(C) tsŒdsŒ esgrk }kjk 

(D) ek’kZy ,oa ihxw }kjk 

8. ‘What ought to be’ is related with : 

(A)   Positive science  

(B) Art  

(C) Normative Science 

(D) All of the above  

 8. 

 

 

*D;k gksuk pkfg;s* lEcfU/kr gS % 

(A) okLrfod foKku 

(B) dyk  

(C) vkn’kZ foKku 

(D) mi;qZDr lHkh  
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9. Who embraces the concept of 

limited resources and unlimited 

ends in economics ? 

(A)   Marshal  

(B) Adam Smith 

(C) Pigou 

(D) Robbins 

 9. vFkZ’kkL= esa lhfer lk/ku ,oa vlhfer 

vko’;drkvksa dk fopkj fdlus fn;k \ 

(A) ek’kZy 

(B) ,Me fLeFk 

(C) ihxw 

(D) jkWfcUl 

10. ‘An Essay on the nature and 

significance of Economic Science’ 

is written by : 

(A)   J.M. Keynes  

(B) Marshal  

(C) Robbins 

(D) S. P. Thompson  

 10. *vkfFkZd foKku dh iz—fr ,oa egŸo ij ,d 

fucU/k* iqLrd fy[kh xbZ gS % 

(A) tsŒ ,eŒ dhUl 

(B) ek’kZy 

(C) jkWfcUl 

(D) ,lŒihŒ FkkWelu 

11. The nature of Economics is : 

(A)   Science  

(B) Art 

(C) Both (A) & (B) 

(D) None of these 

 11. vFkZ'kkL= dh iz—fr gS % 

(A) foKku  

(B) dyk  

(C) nksuksa (A) ,oa(B) 

(D) buesa ls dksbZ ugha  

12. The father of Economics is : 

(A)   Benham  

(B) Pigou 

(C) Keynes 

(D) Adam Smith 

 12. vFkZ’kkL= ds tud gSa % 

(A) csUge 

(B) ihxw 

(C) dhUl 

(D) ,Me fLeFk 
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13. The central problems of any 

economy are : 

(A)   What to produce 

(B) How to produce 

(C) For whom to produce 

(D) All of the above 

 13. fdlh vFkZO;oLFkk dh dsUnzh; leL;k;sa gaS % 

(A) D;k mRikfnr fd;k tk;s  

(B) dSls mRikfnr fd;k tk;s 

(C) fdlds fy, mRiknu fd;k tk;s 

(D) mijksDr lHkh  

14. Marginal opportunity cost is : 

(A)   ௬
௫
 

(B) ∆௬
∆௫

 

(C) ∆௬
௫

 

(D) ∆௫
௬

 

 14. lhekar volj ykxr gS % 

(A)   ௬
௫
 

(B) ∆௬
∆௫

 

(C) ∆௬
௫

 

(D) ∆௫
௬

 

15. Demand curve is : 

(A)   Average Revenue curve  

(B) Marginal Revenue curve  

(C) Total Revenue curve  

(D) None of these  

 15. Ekkax oØ gksrk gS % 

(A) vkSlr vkxe oØ 

(B) lhekar vkxe oØ 

(C) dqy vkxe oØ 

(D) buesa ls dksbZ ugha  

16. Demand of which type of goods 

are directly related to income : 

(A)   Compulsory goods 

(B) Comfortable goods 

(C) Luxary goods 

(D) All of the above  

 16. fdu oLrqvksa dh ekax vk; ds lkFk izR;{k 

:i ls lEcfU/kr gksrh gS % 

(A) vfuok;Z oLrq;sa 

(B) vkjkenk;d oLrq;sa 

(C) foykflrk dh oLrq;sa 

(D) mijksDr lHkh  
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17. The determinant factors of the 

demand of a commodity are said : 

(A)   Dependent Variables  

(B) Independent Variables   

(C) Proportionate Variables  

(D) Constants  

 17. ,d oLrq dh ekax dks fu/kkZfjr djus okys 

dkjdksa dks dgrs gSa % 

(A) ijra= pj 

(B) Lora= pj 

(C) vkuqikfrd pj  

(D) fLFkjkad  

18. Denned demand is concerned   

with : 

(A)   Consumers  

(B) Products   

(C) Government  

(D) All of the above  

 18. O;qRiUu ekax lEcfU/kr gS % 

(A) miHkksDrkvksa ls  

(B) mRiknksa ls  

(C) ljdkj ls  

(D) mijksDr lHkh  

19. The demand of which type of 

goods does not increase after 

decreasing the price of those ? 

(A)   Comfortable goods 

(B) Prestige goods 

(C) Giffin goods 

(D) Compulsory goods  

 19. fdl izdkj dh oLRkqvksa ds ewY; esa deh gksus 

ls ekax esa òf) ugha gksrh gS \ 

(A) vkjkenk;d oLRkq;sa 

(B) izfr”Bkj{kd oLrq;sa 

(C) fxfQu oLrq;sa 

(D) vfuok;Z oLrq;sa  

20. ‘Economics is the Science of 

wealth’. This Statement is of : 

(A)   Jevans  

(B) Walker 

(C) Adam Smith 

(D) Ricardo 

 20. *vFkZ’kkL= /ku dk foKku gSA* ;g dFku gS % 

(A) tsoUl 

(B) okdj 

(C) ,Me fLeFk 

(D) fjdkMksZ 
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21. Tea and coffee in example of : 

(A)   Derived demand  

(B) Complementary demand 

(C) Substitution demand  

(D) Cross demand  

 21. pk; vkSj dkWQh fdl izdkj dh ekax dk 

mnkgj.k gS % 

(A) O;qRiUu ekax 

(B) iwjd ekax 

(C) LFkkukiUu ekax 

(D) vkM+h ekax 

22. In contraction and expansion of 

demand : 

(A)   Demand curve remains 

unchanged  

(B) Demand curve changes  

(C) Slope of demand curve 

changes  

(D) All of the above  

 22. ekax ds ladqpu ,oa foLrkj esa % 

(A) ekax oØ vifjofrZr jgrk gS 

(B) ekax oØ ifjofrZr gks tkrk gS 

(C) ekax oØ dk <ky cny tkrk gS 

(D) mijksDr lHkh  

23. ‘Supply may mean also the 

amount offered for sale per unit of 

time’ this statement in of : 

(A)   Lipsey 

(B) Mayer 

(C) Benham  

(D) Mill  

 23. *iwfrZ dk rkRi;Z oLrq dh ml ek=k ls 

yxk;k tkrk gS tks izfr le; bdkbZ esa fcØh 

ds fy;s miyC/k gSA* ;g dFku gS% 

(A) fyIls 

(B) es;j 

(C) csUge  

(D) fey 
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24. Price elasticity of demand means : 

(A)   Change in price  

(B) Change in demand 

(C) Change in real income 

(D) Change in demand because of 

change in price  

 24. Ekakx dh dher yksp ls vfHkizk; gS % 

(A) dher esa ifjorZu 

(B) ekax esa ifjorZu 

(C) okLrfod vk; esa ifjorZu  

(D) dher esa ifjorZu ds dkj.k ekax esa 

ifjorZu  

25. Ed=0 means elasticity of demand : 

(A)   Perfectly inelastic  

(B) Perfectly elastic  

(C) Unitary elastic  

(D) Less than unitary elastic 

 25. Ed=0dk vFkZ gS fd ekax dh yksp % 

(A) iw.kZr% csykspnkj gS   

(B) iw.kZr% ykspnkj gS   

(C) bdkbZ ds cjkcj gS 

(D) bdkbZ ls de gS  
26. Income elasticity of demand can 

be measured by : 

(A)   ∆௤
∆௬

× ௬
௤
 

(B) ∆௤
∆௬

× ∆௬
∆௤

 

(C) ∆௬
∆௤

× ௤
௬
 

(D) ∆௬
∆௤

×௬
௤
 

 26. ekax dh vk; yksp dks fuEu lw= ls ekik tk 

ldrk gS % 

(A)   ∆௤
∆௬

× ௬
௤
 

(B) ∆௤
∆௬

× ∆௬
∆௤

 

(C) ∆௬
∆௤

× ௤
௬
 

(D) ∆௬
∆௤

×௬
௤
 

27. Elasticity of demand for luxary 

good is : 

(A)   Perfectly elastic 

(B) Highly inelastic  

(C) Highly elastic  

(D) Unitary elastic 

 27. foykflrkiw.kZ oLrqvksa dh ekax dh yksp gksrh 

gS % 

(A) iw.kZr;k ykspnkj 

(B) vR;f/kd csykspnkj  

(C) vR;f/kd ykspnkj 

(D) bdkbZ ykspnkj 
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28. The propounder of Equi-marginal 

Utility theory was : 

(A)   Marshal  

(B) Chapman  

(C) Gosen 

(D) Cairncross  

 28. le&lhekUr mi;ksfxrk fu;e ds izfriknd 

Fks % 

(A) ek’kZy 

(B) pSieSu 

(C) xkslsu 

(D) ds;uZØkWl 

29. Marginal Utility can be measured 

by : 

(A)  ܷܶ௡ − ܷܶ௡ିଵ 

(B) ܷܶ௡ + ܷܶ௡ିଵ 

(C) ܷܶ௡ + ܷܶ௡ାଵ 

(D) None of these 

 29. lhekar mi;ksfxrk dk ekiu fd;k tk ldrk 

gS % 

(A)  ܷܶ௡ − ܷܶ௡ିଵ 

(B) ܷܶ௡ + ܷܶ௡ିଵ 

(C) ܷܶ௡ + ܷܶ௡ାଵ 

(D) buesa ls dksbZ ugha  

30. If Indifference curve is convex to 
the origin point, then Marginal 
Rate of Substitution (MRS)will be: 
(A)   Increasing 
(B) Decreasing 
(C) Stable 
(D) None of these 

 30. ;fn rVLFkrk oØ ewy fcUnq ds izfr 

mUurksnj gS rks lhekar izfrLFkkiu 

nj(MRS) gksxh % 

(A) c<+rh gqbZ 

(B) ?kVrh gqbZ 

(C) fLFkj 

(D) buesa ls dksbZ ugha 

31. Indifference curve analysis was 

done firstly in 1881 by : 

(A)   Hicks 

(B) Edgeworth  

(C) Mayers 

(D) Paretto 

 31. rVLFkrk oØksa dk Ikz;ksx loZizFke 1881 esa 

fd;k x;k % 

(A) fgDl ds }kjk 

(B) ,toFkZ ds }kjk 

(C) es;lZ ds }kjk 

(D) iSjsVks ds }kjk 
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32. The production function means : 

(A)   Way of increasing the 

production 

(B) Expansion of production 

factors 

(C) Relationship between 

production and production 

factors 

(D) Diminishing marginal utility 

 32. mRiknu Qyu ls vfHkizk; gS % 

(A) mRiknu ds c<+us ds rjhds ls  

(B) mRifŸk ds lk/kuksa dk foLRkkj 

(C) lk/ku ,oa mRiknu dh ek=k ds chp 

lEcU/k 

(D) lhekar mi;ksfxrk dk gzkl 

33. Law of variable proportion relates 

to : 

(A)   Short term 

(B) Long term 

(C) Both (A) & (B)   

(D) None of these 

 33. ifjorZu’khy vuqikr ds fu;e dk lEcU/k 

gksrk gS % 

(A) vYidky ls  

(B) nhs?kZdky ls  

(C) nksuks (A),oa(B) 

(D) buesa ls dksbZ ugha  

34. Law of Diminishing Returns 

applies on : 

(A)   Only industries  

(B) Only agricultural activities  

(C) Every economic activity after 

a certain limit  

(D) None of these 

 34. âkleku izfrQy fu;e ykxw gksrk gS % 

(A) dsoy m|ksxksa ij  

(B) dsoy —f”kxr fØ;kvksa ij  

(C) ,d lhek ds ckn izR;sd vkfFkZd fØ;k 

ij  

(D) buesa ls dksbZ ugha  
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35. Tick the right in following : 

(A)   TVC =TC+TFC 

(B) TFC = TVC+TC 

(C) TC = TVC+TFC 

(D) TC = TVC×TFC 

 35. fuEu esa lgh vafdr dhft;s % 

(A)   TVC = TC + TFC 

(B) TFC = TVC + TC 

(C) TC = TVC + TFC 

(D) TC = TVC × TFC 

36. With increment of production, the 

difference between total cost and 

total fixed cost : 

(A)   Increases 

(B) Decreases 

(C) Remains Stable  

(D) Fluctuates  

 36. mRiknu esa òf) ds lkFk&lkFk dqy ykxr 

,oa dqy fLFkj ykxr esa vraj % 

(A) c<+rk tkrk gS 

(B) ?kVrk tkrk gS 

(C) fLFkj jgrk gS 

(D) ?kVrk&c<+rk jgrk gS 

37. Which in right in the following : 

(A)  ܴܣ = ௉×ொ
ொ

 

(B) ܴܣ = ௉×ொ
௉

 

(C) ܴܣ =  ܲ × ܳ  

(D) ܴܣ = ொ
௉×ொ

 

 37. fuEufyf[kr esa dkSu&lk lgh gS % 

(A)  ܴܣ = ௉×ொ
ொ

 

(B) ܴܣ = ௉×ொ
௉

 

(C) ܴܣ =  ܲ × ܳ  

(D) ܴܣ = ொ
௉×ொ

 

38. A net income earned by an extra 

unit is said : 

(A)   Extra income  

(B) Marginal income  

(C) Average income  

(D) Monetary income  

 38. ,dvfrfjDr bdkbZ ls vftZr ‘kq) vk; dks 

dgrs gSa % 

(A) vfrfjDr vk; 

(B) lhekar vk; 

(C) vkSlr vk; 

(D) ekSfnzd vk; 
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39. The concept of Paretian optimality 

is based on : 

(A)   Ordinal Utility Theory 

(B) Cardinal Utility Theory 

(C) Both (A) & (B) 

(D) None of these 

 39. iSjsVks vuqdwyre dh vo/kkj.kk vk/kkfjr gS % 

(A) Øeokpd mi;ksfxrk fl)kUr 

(B) x.kukokpd mi;ksfxrk fl)kUr 

(C) nksuksa (A)  ,oa (B) 

(D) buesa ls dksbZ ugha 

40. External economics are attained 

by: 

(A)   An only firm 

(B) Many firms 

(C) A small producer 

(D) None of these 

 40. ckácprsa izkIr gksrh gS % 

(A) ,d QeZ dks  

(B) cgqr lh QeksZa dks  

(C) NksVs mRiknd dks  

(D) buesa ls dksbZ ugha  

41. In oligopoly, number of producers 

is : 

(A)   Only one  

(B) Two producers  

(C) A few producers 

(D) Many producers 

 41. vYikf/kdkj esa foØsrkvksa dh la[;k gksrh gS % 

(A) ,d 

(B) nks  

(C) dqN ;k FkksMs+ 

(D) cgqr  

42. The equilibrium of a firm occurs 

when : 

(A)   AR = MR 

(B) MC = MR 

(C) AC = AR 

(D) None of these 

 42. ,d QeZ larqyu dh fLFkfr esa gksxh tcfd % 

(A)   AR = MR 

(B) MC = MR 

(C) AC = AR 

(D) buesa ls dksbZ ugha  
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43. Under perfect competition, 

elasticity of demand of a firm is  : 

(A)   Perfectly elastic 

(B) Perfectly inelastic 

(C) Less elastic 

(D) Highly elastic 

 43. iw.kZ izfr;ksfxrk ds cktkj esa ,d QeZ dh 

ekax dh yksp gksxh %  

(A) iw.kZr;k ykspnkj 

(B) iw.kZr;k csykspnkj 

(C) csykspnkj 

(D) vR;f/kd ykspnkj 

44. In long run, a perfect competitive 

firm earns: 

(A)   Normal profit  

(B) Supernormal profit  

(C) Loss  

(D) No profit no loss 

 44. iw.kZ izfr;ksfxrk ds vUrxZr nh?kZdky esa ,d 

QeZ dks izkIr gksrk gS % 

(A) lkekU; ykHk  

(B) lkekU; ls vf/kd ykHk 

(C) gkfu 

(D) u ykHk u gkfu 

45. In perfect competition price in 

determined by : 

(A)   Representative firm 

(B) Government  

(C) Industry 

(D) General Firm  

 45. iw.kZ izfr;ksfxrk ds vUrxZr dher dk 

fu/kkZj.k fd;k tkrk gS % 

(A) izfrfuf/k QeZ 

(B) ljdkj 

(C) m|ksx 

(D) lk/kkj.k QeZ 

46. Price discrimination is possible   

in: 

(A)   In monopoly  

(B) Perfect competition 

(C) Both (A) & (B) 

(D) Neither  (A) nor (B) 

 46. dher foHksn laHko gS % 

(A) ,dkf/kdkj esa  

(B) iw.kZ izfr;ksfxrk 

(C) nksuksa (A) vkSj (B) 

(D) u (A) vkSj u gh (B) 
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47. Perfect knowledge of a market is a 

characteristic of : 

(A)   Imperfect competition 

(B) Perfect competition 

(C) Both (A) & (B) 

(D) None of these 

 47. *cktkj n’kkvksa dk iw.kZ Kku* ;g fo’ks”krk gS% 

(A) viw.kZ izfr;ksfxrk 

(B) iw.kZ izfr;ksfxrk 

(C) nksuksa (A) ,oa(B) 

(D) buesa ls dksbZ ugha  

48. In a perfect competition, the 

Average Revenue curve is : 

(A)   Parallel to y-axis 

(B) Parallel to x-axis 

(C) Slopes downward from left to 

right 

(D) Slopes downward from right 

to left  

 48. iw.kZ izfr;ksfxrk ds vUrxZr vkSlr vk; oØ 

gksrk gS % 

(A) y-axis ds lekukUrj 

(B) x-axis ds lekukUrj 

(C) ck;sa ls nk;as uhps dh vksj fxjrk gqvk 

(D) nk;sa ls ck;sa uhps dh vksj fxjrk gqvk 

49. Number of producers in imperfect 

competition is : 

(A)   Unlimited  

(B) Limited  

(C) Less 

(D) More 

 49. viw.kZ izfr;ksfxrk ds vUrxZr mRikndksa dh 

la[;k gksrh gS % 

(A) vlhfer 

(B) lhfer 

(C) de  

(D) T;knk 

50. In which type of market 
consumers are attracted through 
advertisements : 
(A)   Monopoly 
(B) Monopolistic competition 
(C) Perfect competition 
(D) Imperfect competition 

 50. fdl izdkj ds cktkj esa miHkksDrkvksa dks 

foKkiu ds ek/;e ls vkdf”kZr fd;k tkrk gS% 

(A) ,dkf/kdkj 

(B) ,dkf/k—r izfr;ksfxrk 

(C) iw.kZ izfr;ksfxrk 

(D) viw.kZ izfr;ksfxrk 
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51. In imperfect competition, in the 

state of equilibrium profit is : 

(A)   Normal 

(B) Maximum 

(C) Less than normal 

(D) More than normal  

 51. viw.kZ izfr;ksfxrk esa larqyu dh n’kk esa ykHk 

feyrk gS % 

(A) lkekU; 

(B) vf/kdre 

(C) lkekU; ls de 

(D) lkekU; ls vf/kd  

52. The main characteristic of 

monopolistic competition is : 

(A)   Product differentiation 

(B) Free entry of firms  

(C) More selling costs 

(D) All of the above  

 52. ,dkf/k—r izfr;ksfxrk dh eq[; fo’ks”krk gS %  

(A) oLrq&foHksn gksuk 

(B) QeksaZ dk Lora= izos’k 

(C) vf/kd foØ; ykxrsa  

(D) mi;qZDr lHkh  

53. The propounder of the concept of 

group under monopolistic 

competition was : 

(A)   Hicks 

(B) Mrs. J. Robbinson 

(C) E.H. Chamberlin  

(D) Leftwitch 

 53. ,dkf/k—r izfr;ksfxrk ds vUrxZr *lewg dk 

fopkj* ds izfriknd Fks % 

(A) fgDl 

(B) Jherh tsŒ jkWfcUlu 

(C) bZŒ ,pŒ pSEcjfyu 

(D) ys¶Vfop 

54. In which type of market firms are 

price–maker : 

(A)   Perfect competition  

(B) Imperfect competition 

(C) Monopoly 

(D) Oligopoly  

 54. fdl izdkj ds cktkj dh fLFkfr esa QesZa 

dher&fuekZrk gksrh gSa % 

(A) iw.kZ izfr;ksfxrk 

(B) viw.kZ izfr;ksfxrk 

(C) ,dkf/kdkj 

(D) vYikf/kdkj 
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55. ‘A monopoly firm holds whole 

control over supply.’ This 

statement is : 

(A)   True  

(B) False 

(C) Both (A) & (B) 

(D) None of these 

 55. *,d ,dkf/kdkjh QeZ dk iwfrZ ij iw.kZ 

fu;a=.k gksrk gSA* ;g dFku gS % 

(A) lR; 

(B) vlR; 

(C) nksuksa (A) ,oa(B) 

(D) buesa ls dksbZ ugha  

56. The author of ‘the Economics of 

imperfect competition’ is : 

(A)   Marshal 

(B) Smt. J. Robbinson 

(C) Leftwitch 

(D) Stigler  

 56. *n bdksukWfeDl vkWQ bEiQsZDV dkWfEiVh’ku* 

ds ys[kd gS % 

(A) ek’kZy 

(B) Jherh tsŒ jkWfcUlu 

(C) ys¶Vfop 

(D) fLVxyj 

57. In which type of market, there is 

perfect mobility in factors of 

production : 

(A)   Perfect competition 

(B) Imperfect competition 

(C) Monopoly 

(D) Discriminating monopoly 

 57. fdl izdkj ds cktkj esa mRifŸk ds lk/kuksa esa 

iw.kZ xfr’khyrk ik;h tkrh gS %  

(A) iw.kZ izfr;ksfxrk 

(B) viw.kZ izfr;ksfxrk 

(C) ,dkf/kdkj 

(D) foHksnkRed ,dkf/kdkj 

58. Fixed costs are called : 
(A)   Supplementary cost 
(B) Variable cost 
(C) Real cost 
(D) None of the above  

 58. 
 
 

fLFkj ykxrksa dks dgrs gSa % 

(A) iwjd ykxr 

(B) ifjorZu’khy ykxr  

(C) okLrfod ykxr 

(D) buesa ls dksbZ ugha  
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59. Total money cost means : 

(A)   Total explicit costs  

(B) Total implicit costs 

(C) Normal costs  

(D) All of the above  

 59. dqy ekSfnzd ykxr dk vfHkizk; gS % 

(A) dqy Li”V ykxrsa 

(B) dqy vLi”V ykxrsa 

(C) lkekU; ykxrsa  

(D) mijksDr lHkh  

60. Market price of normal goods are 

determined by : 

(A)   Demand 

(B) Supply 

(C) Both (A) & (B) 

(D) None of these 

 60. lkekU; oLrqvksa dh cktkj dher fu/kkZfjr 

gksrh gS % 

(A) ekax }kjk 

(B) iwfrZ }kjk 

(C) nksuksa (A) ,oa (B) 

(D) buesa ls dksbZ ugha 

61. The prices determined in the short 

period is called : 

(A)   Normal price 

(B) Market price  

(C) Both (A) & (B) 

(D) None of these 

 61. vYidky esa fu/kkZfjr dherksa dks dgrs gSa % 

(A) lkekU; dher 

(B) cktkj dher 

(C) mijksDr nksuksa (A) ,oa(B) 

(D) buesa ls dksbZ ugha 

62. The most important factor for 
market is : 
(A)   Presence of buyers and 

sellers  
(B) Area of market 
(C) Competition  
(D) Availability of different 

goods  

 62. fdlh Hkh cktkj ds lokZf/kd vko’;d rRo 

gS % 

(A) Øsrkvksa ,oa foØsrkvksa dh mifLFkfr  

(B) cktkj dk LFkku 

(C) Li)kZRed n’kk  

(D) fofHkUu oLrqvksa dk gksuk 
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63. Due to increase in production, the 

difference between total cost and 

total variable cost : 

(A)   Decreases  

(B) Increases 

(C) Remains stable  

(D) None of these  

 63. mRiknu esa òf) ds lkFk dqy ykxr ,oa dqy 

ifjorZu’khy ykxr esa varj % 

(A) ?kVrk tkrk gS 

(B) c<+rk tkrk gS 

(C) fLFkj jgrk gS 

(D) buesa ls dksbZ ugha  

64. After closing the production : 

(A)   Fixed cost increases  

(B) Variable cost decreases 

(C) Variable cost becomes zero 

(D) Fixed costs become zero 

 64. mRiknu can gksus ds i'pkr~ % 

(A) fLFkj ykxrsa c<+rh gSa 

(B) ifjorZu’khy ykxrsa de gksrh gSa 

(C) ifjorZu’khy ykxrsa ‘kwU; gks tkrh gSa 

(D) fLFkj ykxrsa ‘kwU; gksrh gS 

65. The problem of choice is : 

(A)   An economic problem  

(B) A non-economic problem  

(C) A social problem 

(D) None of the above  

 65. pquko dh leL;k gS % 

(A) ,d vkfFkZd leL;k 

(B) ,d xSj&vkfFkZd leL;k 

(C) ,d lkekftd leL;k 

(D) mijksDr esa ls dksbZ ugha 

66. ‘The Affluent Society’ is written 

by: 

(A)   J. K. Galbraith 

(B) Robbins 

(C) Eric Roll 

(D) Leftwitch 

 66. *n ,¶yw,.V lkslk;Vh* ds ys[kd gS % 

(A) tsŒ dsŒ xSyczSFk 

(B) jkWfcUl 

(C) ,fjd jksy 

(D) ys¶Vfop 
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67. ‘The father of welfare Economics’ 

is : 

(A)   Hicks 

(B) Kaldor 

(C) Pigou 

(D) Samuleson 

 67. *dY;k.koknh vFkZ’kkL= dk tud* dgrs gSa % 

(A) fgDl 

(B) dkYMksj 

(C) ihxw 

(D) lSE;qylu 

68. That part of general welfare which 

directly or indirectly measured in 

money terms is called : 

(A)   General welfare 

(B) Social welfare  

(C) Economic welfare  

(D) All of the above  

 68. lkekU; dY;k.k dk og Hkkx tks izR;{k ;k 

ijks{k :i ls eqnzk :ih ekin.M ls lEcfU/kr 

gS] mls dgrs gSa % 

(A) lkekU; dY;k.k 

(B) lkekftd dY;k.k 

(C) vkfFkZd dY;k.k 

(D) mi;qZDr lHkh  

69. The main characteristic of macro 

economics is : 

(A)   Study of individual  

(B) Study of a group 

(C) Partial balance  

(D) None of the above  

 69. O;kid vFkZ’kkL= dh eq[; fo’ks”krk gS % 

(A) O;fDrxr v/;;u 

(B) lewg dk v/;;u 

(C) vkaf’kd larqyu 

(D) mi;qZDr esa ls dksbZ ugha  

70. The theory of macroeconomics is 

related to : 

(A)   Economic development  

(B) Income and employment  

(C) Skilled distribution of 

resources  

(D) All of the above  

 70. O;kid vFkZ’kkL= dk fl)kUr lEcfU/kr gS % 

(A) vkfFkZd fodkl 

(B) vk; ,oa jkstxkj 

(C) lk/kuksa dk dq’ky forj.k 

(D) mijksDr lHkh  
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71. General price level in studied in : 

(A)   Micro economics  

(B) Macro economics 

(C) Both (A) & (B) 

(D) None of the above 

 71. lkekU; dher Lrj dk v/;;u fd;k tkrk 

gS % 

(A) lw{e vFkZ’kkL= 

(B) O;kid vFkZ’kkL= 

(C) nksuksa (A) ,oa(B) 

(D) buesa ls dksbZ ugha  

72. The writer of book ‘A General 

Theory of Employment,’ Interest 

and money is : 

(A)   K.E. Boulding  

(B) J.K. Mehta  

(C) J.M. Keynes  

(D) Quesnay 

 72. *jkstxkj] C;kt vkSj eqnzk ds lkekU; fl)kUr* 

iqLrd ds ys[kd gSa % 

(A) dsŒ bZŒ cksfYMax  

(B) tsŒ dsŒ esgrk 

(C) tsŒ ,eŒ dhUl 

(D) dSus 

73. ‘Macro’ word is derived from the : 

(A)   Latin 

(B) Greek 

(C) German 

(D) None of the above  

 73. *eSØks* ‘kCn dh O;qRifŸk gqbZ gS % 

(A) ySfVu 

(B) xzhd  

(C) teZu 

(D) mijksDr esa dksbZ ugha  

74. ‘The main function of macro 

economics is to analyze national 

income’ this definition is of : 

(A)   Chamberlin  

(B) Schultz  

(C) Shapiro 

(D) Boulding 

 74. *O;kid vFkZ’kkL= dk eq[; dk;Z jk”Vªh; vk; 

dk fo’ys”k.k djuk gS* ;g ifjHkk”kk gS % 

(A) pSEcjfyu 

(B) ‘kqYt+ 

(C) ‘kSfijks 

(D) cksfYMax 
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75. Net National Income according to 

factor cost is called : 

(A)   National income  

(B) Total disposable income  

(C) Earned income from public 

sector  

(D) Personal Income  

 75. Lkk/ku ykxr ij ‘kq) jk”Vªh; vk; dks dgk 

tkrk gS % 

(A) jk”Vªh; vk; 

(B) dqy iz;ksT; vk; 

(C) lkoZtfud {ks= ls vftZr vk; 

(D) oS;fDrd vk; 

76. ‘National Income Accounting is 

the means of identifying and 

measuring aggregate economic 

activities’. This definition is of : 

(A)   Richard Stone  

(B) A.T. Peacock 

(C) Franc Zohn 

(D) Pigou 

 76. *jk”Vh; vk; ys[kkadu og fof/k gS ftldh 

lgk;rk ls lkewfgd vkfFkZd fØ;kvksa dks 

le>k ,oa ekik tkrk gSA* ;g ifjHkk”kk gS % 

(A) fjpMZ LVksu 

(B) ,ŒVhŒ ihdkWd 

(C) Ýsad tkWu 

(D) ihxw 

77. The difference of Net national 

product according to market price 

and net national product according 

to factor cost is : 

(A)   Utilization of fixed capital  

(B) Personal direct tax 

(C) Net factor income from 

abroad  

(D) Net indirect tax  

 77. Cktkj dher ij ‘kq) jk”Vªh; mRikn ,oa 

lk/ku ykxr ij ‘kq) jk”Vªh; mRikn esa varj 

gS % 

(A) fLFkj iwath ds mi;ksx dk  

(B) oS;fDrd izR;{k dj dk  

(C) fons’kksa ls izkIr ‘kq) ykxr vk; dk  

(D) ‘kq) vizR;{k dj dk  
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78. The total monetary price (at 

market price) of all final 

commodities produced in the 

durations of one year in any 

country is called : 

(A)   Personal Income 

(B) Net National Product  

(C) National Income 

(D) Gross Domestic Product  

 78. fdl ns’k dh ,d o”kZ esa mRikfnr cktkj 

dher ij lHkh vafre oLrqvksa dh dqy 

ekSfnzd dher dks dgrs gSa % 

(A) oS;fDrd vk; 

(B) ‘kq) jk”Vªh; mRikn 

(C) jk”Vªh; vk; 

(D) ldy ?kjsyw mRikn 

79. Which statement is correct : 

(A)   Net domestic Product = GDP 

– Depreciations   

(B) NDP = GDP + Depreciation  

(C) NDP = GDP + Direct tax  

(D) None of these 

 79. dkSu&lk dFku lR; gS % 

(A) ‘kq) ?kjsyw mRikn = GDP – gzkl  

(B) NDP = GDP + gzkl 

(C) NDP = GDP + izR;{kdj 

(D) buesa ls dksbZ ugha  

80. The methods of measuring 

National Income are : 

(A)   Value – added method  

(B) Income method  

(C) Expenditure method  

(D) All of the above 

 80. jk"Vªh; vk; ds ekiu dh fof/k;ka gSa % 

(A) ewY;&òf) jhfr  

(B) vk; x.kuk jhfr  

(C) O;; x.kuk jhfr  

(D) mijksDr lHkh  

81. Following formula is used for 

finding out value added : 

(A)   Purchase Price + Profit 

(B) Sale price - Loss 

(C) Purchase price + 

Intermediary cost  

(D) Sale price – Intermediary cost  

 81. ewY;&òf) dks Kkr djus gsrq fuEufyf[kr 

lwp dk iz;ksx fd;k tkrk gS % 

(A) [kjhn ewY; + ykHk  

(B) fcØh ewY; & gkfu 

(C) [kjhn dher + e/;orhZ ykxrsa  

(D) fcØh ewY; & e/;orhZ ykxrsa  
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82. The product method includes : 

(A)   Total initial product 

(B) Total intermediary product  

(C) Total final product  

(D) None of these  

 82. mRiknu lax.kuk fof/k esa ‘kfey gS % 

(A) dqy vkarfjd mRiknu 

(B) dqy e/;orhZ mRiknu 

(C) dqy vafre mRiknu 

(D) buesa ls dksbZ ugha  

83. ‘Supply creates its own demand’ 

this statement is of : 

(A)   Ricardo 

(B) J. S. Mill 

(C) J. B. Say 

(D) None of these 

 83. *iwfrZ viuh ekax Lor% l̀ftr djrh gS* ;g 

dFku gS % 

(A) fjdkMksZ 

(B) tsŒ ,lŒ fey 

(C) tsŒ chŒ ls  

(D) buesa ls dksbZ ugha  

84. ‘Say’s market Law’ is concerned 

with : 

(A)   Long term 

(B) Short term 

(C) Both (A) & (B) 

(D) None of above  

 84. *ls dk cktkj fu;e* lEcfU/kr gS % 

(A) nh?kZ dky 

(B) vYidky 

(C) nksuksa (A)  ,oa (B) 

(D) mijksDr dksbZ ugha  

85. According to classical theory of 

employment there are some ways 

to remove unemployment from 

economy : 

(A)   Change in wage rate 

(B) Change in prices  

(C) Change is interest rate  

(D) All of the above  

 85. jkstxkj ds Dykfldy fl)kUr ds vuqlkj 

vFkZO;oLFkk ls csjkstxkjh dks nwj djus gsrq 

mik; gS % 

(A) etnwjh njksa esa ifjorZu 

(B) dherksa esa ifjorZu 

(C) C;kt njksa esa ifjrZu 

(D) mijksDr lHkh  
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86. W = P×MP ௅ܲ  – this equation 

expresses : 

(A)   Demand function  

(B) Supply function 

(C) Wage function 

(D) Real wages  

 86. W = P×MP ௅ܲ  –Lkehdj.k O;Dr djrk gS % 

(A) ekax izdk;Z 

(B) iwfrZ izdk;Z 

(C) etnwjh izdk;Z 

(D) okLrfod etnwjh  

87. Money level is determined by the 

Quantity of money’ this statement 

is of : 

(A)   Marshal  

(B) Pigou 

(C) Fisher  

(D) Edgeworth 

 87. *ewY;Lrj] eqnzk dh ek=k }kjk fu/kkZfjr gksrk 

gS* ;g dFku gS % 

(A) ek’kZy 

(B) ihxw 

(C) fQ'kj 

(D) ,toFkZ 

88. Classical Theory of employment 

depends on : 

(A)   Non- interference policy of 

Government  

(B) Protection policy 

(C) Trade policy 

(D) Industrial policy 

 88. jkstxkj dk Dykfldy fl)kUr fuHkZj djrk 

gS % 

(A) ljdkj dh vgLr{ksiiw.kZ uhfr 

(B) laj{k.k uhfr 

(C) O;kikfjd uhfr  

(D) vkS|ksfxd uhfr  
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89. Keynesian theory of employment 

is propounded in the year. 

(A)   1938 

(B) 1936 

(C) 1939 

(D) 1937 

 89. dhUl ds jkstxkj fl)kUr dk izfriknu 

fuEu o”kZ esa gqvk % 

(A)   1938 

(B) 1936 

(C) 1939 

(D) 1937 

90. In Y = f (N),Y indicates : 

(A)   National Product 

(B) National Investment  

(C) Net National Product  

(D) Net National Investment 

 90. Y = f (N) esa Yladsr djrk gS % 

(A) jk”Vªh; mRikn 

(B) jk”Vªh; fuos’k 

(C) ‘kq) jk”Vªh; mRikn 

(D) ‘kq) jk”Vªh; fuos’k 

91. According to Keynes, the level of 

employment depends on : 

(A)   Effective Supply 

(B) Effective Demand  

(C) Quantity of Investment 

(D) Level of consumption 

 91. dhUl ds vuqlkj jkstxkj dk Lrj fuHkZj 

djrk gS % 

(A) izHkkoiw.kZ iwfrZ 

(B) izHkkoiw.kZ ekax  

(C) fofu;ksx dh ek=k 

(D) miHkksx Lrj ij  
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92. According to Keynes, Aggregate 

demand depends on : 

(A)   Consumption expenditure  

(B) Investment expenditure  

(C) Both (A) & (B) 

(D) None of these  

 92. dhUl ds vuqlkj lexz ekax fuHkZj djrh gS % 

(A) miHkksx O;; 

(B) fofu;ksx O;; 

(C) nksuksa(A)vkSj (B) 

(D) bueas ls dksbZ ugha  

93. To measure the marginal 

propensity to consume the formula 

is used : 

(A)   ஼
௒
 

(B) ∆஼
∆௒ 

 

(C) ௒
஼
 

(D) ∆௒
∆஼ 

 

 93. miHkksx dh lhekar izòfÙr ds ekiu dk lw= 

gS % 

(A)   ஼
௒
 

(B) ∆஼
∆௒ 

 

(C) ௒
஼
 

(D) ∆௒
∆஼ 

 

94. According to Keynes aggregate 

supply in short run : 

(A)   Increases  

(B) Decreases  

(C) Remains stable  

(D) None of these  

 94. dhUl ds vuqlkj vYidky esa lexz iwfrZ % 

(A) c<+rh gS 

(B) ?kVrh gS 

(C) fLFkj jgrh gS 

(D) bueas ls dksbZ ugha  
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95. MPC decreases with increase in 

income ‘ this statement is : 

(A)   True 

(B) False  

(C) Both (A) & (B) true  

(D) Both (A) & (B) False  

 95. vk; esa òf) ds lkFk&lkFkMPC?kVrh gSaA 

;g dFku gS % 

(A) lR; gS 

(B) vlR; gS 

(C) nksuksa (A) ,oa(B)lgh gS 

(D) nksuks a(A) ,oa (B)xyr gS 

96. ‘Consumption can be called 

negative production’ is statement 

of : 

(A)   Mayers  

(B) Ely  

(C) Marshal  

(D) Shapiro  

 96. ^miHkksx dks _.kkRed mRiknu dg ldrs 

gSA ;g dFku gS % 

(A) es;lZ 

(B) ,syh 

(C) ek’kZy  

(D) ‘kSfijks 

97. Marginal efficiency of capital 

depend on : 

(A)   Prospective yield of capital 

asset  

(B) Supply price of capital asset  

(C) Both of the above  

(D) None of the above  

 97. iwath dh lhekar mRikndrk fuHkZj djrh gS % 

(A) iawthxr lk/ku dh izR;kf’kr vk;  

(B) iwathxr lk/ku dk iwfrZ ewY;  

(C) mi;qZDr nksuksa  

(D) mi;qZDr esa dksbZ ugha  
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98. Main measures to stimulate 

investment are : 

(A)   Control on monopolistic 

attitude  

(B) Pump – priming policy  

(C) Leaf Reeking 

(D) All of the above  

 98. fofu;ksx dks izksRlkfgr djus ds eq[; mik; 

gSa % 

(A) ,dkf/kdkj dh izòfÙk ij fu;a=.k  

(B) leqíhiu fof/k  

(C) yhQ jhfdax  

(D) mijksDr lHkh  

99. According to Keynes inducement 

to investment depends on : 

(A)   Marginal efficiency of capital  

(B) Rate of Interest  

(C) Both (A) & (B) 

(D) None of these  

 99. dhUl ds vuqlkj fofu;ksx izòfÙk fuHkZj djrh 

gS % 

(A) iwath dh lhekar {kerk  

(B) C;kt nj  

(C) nksuksa (A),oa(B) 

(D) buesa ls dksbZ ugha  

100. Keynes’s theory of Interest is 

known by which name ? 

(A)   Hanson – Hicks Interest 

theory  

(B) Neo – preference theory of 

Interest  

(C) Liquidity preference theory   

(D) Ultimate productivity theory  

 100. dhUl ds C;kt ds fl)kar dks fdl uke ls 

tkuk tkrk gS \ 

(A) gSUlu fgDl dk C;kt dk fl)kar  

(B) uo&ilanxh C;kt dk fl)kar  

(C) rjyrk ilanxh dk fl)kar 

(D) vR;qRikndrk dk fl)kar  

 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  

 


